2
g — | =
By | #x . j—
8 H 4 =B
30
1 > 8/31 ﬁ;ﬂgﬂi B R = & B E 1
s G E{ > . N
1 i& T:AL—F‘ 200 ﬁfgi 730 ggﬁi‘% 8/28 %ﬁ_ﬁzf % ﬁ % ?% %
2 e . B e » = B s o
; s | 718l o 1 il PR A B L e A 104.8.24 FTR @B
ol el Ml R 012 HEEHE EOR - S - B124-8/28 AR(EIREAT 1P T = EEE
513 |13/14]15 ggl?igég%ﬁ:ﬁ% ™ ;{ﬁf%%zﬁ}gﬁﬁ%g S IR - B (AR~ g@fﬁgﬁm s z B
e /:\//\u - =1 :/_’/\D s — By
o i : o4 %igé\%&ﬁ@ ek | DR PR EBAERE HE FH R R R TR
ol | 918 iR 9/15-9/18 jz/;"% ~ FREREISE = H:tﬁigaﬂﬁ D AR - RS R AU R E A K 9/2 3k Ky K H5 2
20 - o8 SR TIET 1) i, 2 RN - IR 919 AR o | sl
(27 | 28 | 23 | 24|25 |26 |9 ot “f.iaﬁ%%%%%*) o R f%gi:é%ﬁ?sﬁﬁé%% 915 ekl
| 27 23 | 21 P EEGRAED O/18 (e e A 2
c &\\\%x\\\\ 30 _ WHAEERGA o1 %Bﬁf ; fﬁﬁi 18 FAC R BT R 9/16 Bp; ;;;E%i o7 - BUERRAE AN
7EP\"_"_ 9 - ;J(é g X ’_HI \&"téiy . S TEINES
o128 o 25 iR TR oo et
1 Bkl 9/27-10/3 F.2 fE A A I B 9/14 e
2 N 3 B TS »:‘”% A IEP &k e LS
6 | 4 e T S~ aweszy |0 Bg niEa
10 56|78 § \ Twon s e S igmﬁgﬁgﬁﬁ il e b (700
g | 10 | 19 E Gt R-TENSHUILIER - E il 9/21 PEET-21 3
70 @@ : L T T 1 ezt | mRressE e oo oS e PR B L
51 10/12-10/14 05 2 FS i HE ____ o127 TR )
8 18 | 19 6|17 10/12-12/%%;#:7\%‘?% s BHIENSE © Z4%-asHs 18/2 %Eéﬁgéﬂﬁfﬂiﬁﬁ - 9/28 i;ﬁslj
20 | 21| 22|23 S L0/ FEIFE S ) S et 2 Mﬁ?@%gﬁ(%g?g —
9 24 O/15-10/16 Uy 2 Wé&-¢$;f?512 (RERA: | LA g —
25 | 26 | 27 | 28 | 29 %ffjﬁﬂéttg(g%tb%@) SR R e T 105 B
= 30 TESERE ) ~ 10/20 %%ﬁ%m?ﬁ}%ﬁi;ﬁgﬁ 10/9 %E%%};QE W
12 ]3]4]s #5(i)~ 7 - ) e - B A 0 EEE
6 111 B 10/ ‘*\ﬁiﬁﬁ%%%‘%fﬁ} — s BEFEENE 10121 Ha
1 7 T (R 06 <F i RELEE(E W B S ) 10/12-10/14 5=
LEe e ou 7 1*%&% i ST e
2 | 13 11/9 PERI TS 1/3-11/4 B34 R -10-10/23 B s E\;é;‘g@] 10/19 @115,
=i 12 | 15 | 16 %)fi{/';gg?;jg%zﬁiﬁgﬁ fReEE R A R S iggg B AR m;;;ﬁji oz | 119 ﬁfé*f%iﬁﬁﬁé
17118 119 | 20 | 21 B VR B BB 2 o IR RS R RS 1172 gi%imgiﬁm?ﬂi?é*ﬁ 1.0 -
11/16 47 AR ’ LB E AT R == O
13 | 22 BB S NaE— = G T B HA R B
23 cEEES T 1118 55 =B K A T L HER BH A2 H
24 | @ @ 1172327 i 11/20 3¢ B34 5 (B PR B AR AR ij e HIHERED FER I R B8 S B
2 11/25-27 kfi‘%ﬁaﬁ{? IR H;E,%E?ﬁﬁﬁé@g”\ s 7~ 8:00~11:00) =80H
y 9 | 30 /2521 %EEA%@ :% SR FEHEEEET 3.ANETR H B Rt E A B
FEE == 1 . 5 N
1 1129 %4k e e iErtn -
2 > = T AER SRR
U N I 31415 1150 SECAE NG s, S
B 5 FREHES 1 H Q=T
16 10 12/6 %%t 4 4 il 1 e B PSS FoRfE =
H 13|14 |15 | ¥6 |1 B ol Amd 105 84 1211 FE 5 15 o bR et | G
= _ N B3 S EEFE (R /25-27 &5 — %
17 {20 | 21 | 22 | 23 7118 | 19 pus — g, | 12/10-12/11 e B T RS e S ) 27 5 R HRE
2
18 |21 1282 4| 25 | 26 | 15 <ty 1216 G-
9|30 | 31 T LRI (5 R DA EER o R
S T A EED o L 12/3-1214 i)
19 ~ T S VAR5 .
1 3 4 5 6 . §\\\ o | 11 ERE—* 12/30 3BT s EFETeisly SH=YoI = >EU%§%%%§?§@ 1217 JZERE KTV S ELE
A 20 [10 | 111 8 | 9 | mffEumE R RS B (S
21 2113114115 = 1/4 FRL A TR 12/25 H %
17 16 -1/15 %ég?%gﬁ Eénp%&éjﬁ%ﬂﬁk% Eﬁaﬁéﬁ&}iﬁﬁﬂ;ﬁ@]
o5 | 26 | 27 | 28 120 (Rt » 121 T4 2:00 S — ie=pid YNES
29 | 30 00 Bz | 124 HEIERESHIE %) WIRIRETE TR 1EP Bk (Fy AR
HASR PP ik T ERA R st :
= = éﬂ%ﬂ ~ %331\» S 1715 Hgkﬁ%ﬂiiz e bl B
11 S e 111 B @ﬁﬂﬂiﬁ%




